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CHURCH

ERENCE IS A SAMPLE ONLY

AND DOES NOT REFER TO A POINT ON THIS MAP

84 1/1
EDITION 1 MCE
SERIES A741

nce 100,000 metres (about 63 miles)

100,000 M. SQUARE IDENTIFICATION
PQ

84 J/7
EDITION 1

FOR CENTRE OF MAP
Annual change decreasing 4.6”
ZONE 11

EXAMPLE OF METHOD USED
TO GIVE A REFERENCE TO NEAREST 100 METRES

THE FOLLOWING GRID REF
immediately to left of point
Estimate tenths of a square from
this line eastward to point
NORTHING: Read number on grid line
immediately below point
Estimate tenths of a square from
this line northward to point

11V
EASTING: Read number on grid line

GRID ZONE
DESIGNATION
REFERENCE POINT

Use diagram only to obtain numerical values.
APPROXIMATE MEAN DECLINATION 1974

Refer to
this map as:

ONE THOUSAND METRE
UNIVERSAL TRANSVERSE MERCATOR GRID
EXAMPLE MILITARY GRID REFERENCE 975984

Nearest similar grid refere

84 /7

EDITION 1

50,000
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